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The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

øé¬Ì õ∂±ôL√¶ö ¸—‡…±&ø˘ √õ∂Àùüı˛ ¬Û”Ì«˜±ÀÚı˛ øÚÀ«˙fl¬/
¬Ûı˛œé¬±Ô«œÀı˛ ˚Ô±¸y¬ı øÚÀÊı˛ ˆ¬±¯∏±˚˛ Î¬◊Mı˛ øÀÓ¬ ˝Àı/

1. Answer any five of the following questions: 2×5=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬Û“±‰¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) What is the distinction between Firm and Industry?

Ù¬±˜« › ø˙Àäı˛ ˜ÀÒ… ¬Û±Ô«fl¬… fl¬œ∑

(b) State the relationship between AR, MR and Price elasticity of demand.

·h¬ ’±˚˛, √õ∂±øôL√fl¬ ’±˚˛ ¤ı— ‰¬±ø˝±ı˛ ±˜·Ó¬ ø¶öøÓ¬ø¶ö±¬Ûfl¬Ó¬±ı˛ ˜ÀÒ… ¸•Ûfl«¬ √õ∂fl¬±˙ fl¬Àı˛±/

(c) Define Monopoly.

¤fl¬À‰¬øÈ¬˚˛± ı±Ê±ı˛ ¸—:±ø˚˛Ó¬ fl¬Àı˛±/

(d) Give two assumptions of a market of monopolistic competition.

¤fl¬À‰¬øÈ¬˚˛± √õ∂øÓ¬À˚±ø·Ó¬± ”̃̆ fl¬ ı±Ê±Àı˛ı˛ ≈øÈ¬ ’Ú≈Ò±ı˛Ì± ±›/

(e) If MC is below AC, will AC be falling or rising?

˚ø √õ∂±øôL√fl¬ ı…˚˛ ·h¬ ı…À˚˛ı˛ ÚœÀ‰¬ Ô±Àfl¬ Ó¬±˝À˘ ·h¬ ı…˚˛ fl¬œ ı‘øX¬ Ú± ˝ò±¸ Œ¬ÛÀÓ¬ Ô±Àfl¬∑

(f) Define Transfer earning.

¶ö±Ú±ôL√ı˛ ’±À˚˛ı˛ ¸—:± Œ˘À‡±/

(g) What is Reaction function?

√õ∂øÓ¬øSê˚˛± ’À¬Ûé¬± fl¬œ∑

(h) What is Price rigidity and who introduced this concept?

±˜ ’Úh¬Ó¬± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ¤ı— Œfl¬ ¤˝◊ Ò±ı˛Ì±øÈ¬ √õ∂ıÓ«¬Ú fl¬Àı˛Ú∑
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2. Answer any four of the following questions: 5×4=20

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¬‰¬±ı˛øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Show that no supply-curve exists in monopoly. How can one measure monopoly power
of a monopolist? 3+2=5

Œ‡±› Œ˚ ¤fl¬À‰¬øÈ¬˚˛± ı±Ê±Àı˛ Œfl¬±ÀÚ± ŒÊ±·±Ú Œı˛‡± Ô±Àfl¬ Ú±/ Œfl¬±ÀÚ± ¤fl¬À‰¬øÈ¬˚˛± fl¬±ı˛ı±øı˛ı˛ ¤fl¬À‰¬øÈ¬˚˛±
é¬˜Ó¬±ı˛ ¬Ûøı˛˜±¬Û fl¬œˆ¬±Àı fl¬ı˛± ˚±Àı∑

(b) What is Multi-plant monopolist? Show equilibrium of a Multi-plant Monopolist.

1+4=5

˜±øå¬ õ≠±KÈ¬ ˜ÀÚ±¬Ûø˘ ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ Multi-plant ˜ÀÚ±¬Ûø˘ı˛ ˆ¬±ı˛¸±˜…øÈ¬ Œ‡±›/

(c) State the assumptions of Stackelberg Oligopoly model. Explain how is equilibrium derived

in such model?

Stackelberg Oligopoly ˜ÀÎ¬À˘ı˛ ’Ú≈Ò±ı˛Ì±&ø˘ øıı‘Ó¬ fl¬Àı˛±/ fl¬œˆ¬±Àı ¤˝◊ ˜ÀÎ¬À˘ ˆ¬±ı˛¸±˜… øÚı˛+ø¬ÛÓ¬
˝˚˛, Ó¬± ı…±‡…± fl¬Àı˛±/

(d) Distinguish between Gross Profit and Net profit. Discuss profit as return for risk-taking

and uncertainty bearing. 2+3=5

Œ˜±È¬ ˜≈Ú±Ù¬± › øÚÈ¬ ˜≈Ú±Ù¬±ı˛ ˜ÀÒ… ¬Û±Ô«fl¬… øÚÀ«˙ fl¬Àı˛±/ ˜≈Ú±Ù¬±ı˛ Á“¬≈øfl¬ › ’øÚ}¬˚˛Ó¬± ı˝Úfl¬±ı˛œ Ó¬MWøÈ¬
’±À˘±‰¬Ú± fl¬Àı˛±/

(e) What do you mean by Liquidity Preference? Explain the nature of speculative demand
for money in Keynesian Liquidity Preference Theory. 2+3=5

Ó¬±ı˛À˘…ı˛ ¬ÛÂj ı˘ÀÓ¬ Ó≈¬ø˜ fl¬œ Œı±ÀÁ¬±∑ Œfl¬˝◊Úƒ¸œ˚˛ Ó¬±ı˛˘… ¬ÛÂÀjı˛ Ó¬ÀMW Ù¬±È¬fl¬± fl¬±ı˛ı±Àı˛ı˛ Î¬◊ÀVÀ˙… ‰¬±ø˝±ı˛
√õ∂fl‘¬øÓ¬ ı…±‡…± fl¬Àı˛±/

(f) Define Pareto Optimal Situation. Establish the Pareto Optimality conditions in production

sector. 2+3=5

¬Û…±Àı˛ÀÈ¬± √õ∂M fl¬±˜… ’ı¶ö±ı˛ ¸—:± ±›/ Î¬◊»¬Û±Ú Œé¬ÀS ¬Û…±Àı˛ÀÈ¬± √õ∂M fl¬±˜…Ó¬±ı˛ ˙Ó«¬&ø˘ √õ∂øÓ¬á¬± fl¬Àı˛±/

3. Answer any one question from the following: 10×1=10

øÚ•ßø˘ø‡Ó¬ Œ˚ Œfl¬±ÀÚ± ¤fl¬øÈ¬ √õ∂Àùüı˛ Î¬◊Mı˛ ±› –

(a) Derive the equilibrium in Cournot Duopoly model. Does the equilibrium ensure joint profit

maximisation of the firms. 8+2=10

fl≈¬ÀÚ±« Î≈¬À˚˛±¬Ûø˘ ˜ÀÎ¬À˘ ˆ¬±ı˛¸±˜… øÚı˛+¬ÛÌ fl¬Àı˛±/ ¤˝◊ ˆ¬±ı˛¸±˜… øfl¬ Î¬◊»¬Û±fl¬ZÀ˚˛ı˛ Œ˚ÃÔ ≈̃Ú±Ù¬±ı˛ ¸Àı«±B‰¬˚˛Ú
øÚø}¬Ó¬ fl¬Àı˛∑

(b) What is Quasi rent? Is there any difference between Differential rent and Scarcity rent?

2+8=10

’Ò« ‡±ÊÚ± ı˘ÀÓ¬ fl¬œ Œı±ÀÁ¬±∑ ¬Û±Ô«fl¬…ÊøÚÓ¬ ‡±ÊÚ± › ≈©x±¬Û…Ó¬±ÊøÚÓ¬ ‡±ÊÚ±ı˛ ˜ÀÒ… øfl¬ Œfl¬±ÀÚ± ¬Û±Ô«fl¬…
’±ÀÂ∑
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